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Note :— This paper is of Seventy (70) marks divided into
two (02) Sections‘A’ and ‘B’. Attempt the questions
contained in these Sections according to the detailed
instructions given there in. Candidates should limit
their answersto the questions on the given answer
sheet. No additional (B) answer sheet will be
issued.
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Section—-A
(@us—=h)

Long Answer Type Questions
(e ST w9e) 2x19=38

Note:— Section ‘A’ contains Five (05) Long-answer
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)
guestions only.
Tug ‘%' § Ui (05) < 3w uvE f ™ €,y
9T & fere S+ (19) i fAuifta €1 fnenfeat =
T8 G Had & (02) YAl & W S T

1. What do you understand by Statistics ? Explain the

importance of statisticsin economic planning.
Tifearsht § o1 9o THe § 7 oNfee fiem § wiferent
% W hl AT hifsT |
2. Distinguish between primary and secondary data
Discuss the various methods of data collection in
datistics.
et T Tt guei § STdX T Fifse | qifeasnt
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3. Discuss the relative merits and demerits of range,
standard deviation and mean deviation as measure of
disperson.

STURRT & WY & €9 H fomr, g9 fo=em aan me
o= & dmafEes TO-grei i e it |

4. What is an index number ? Distinguish between fixed

base and chain base methods of constructing index
number and describe their comparative merits.

gohich M § ? Yok 9 i feer emeR fafy w@
S YR fafy § R Tose HIfT q21 37 JoeEsh
(Uil ST SO hifrT |

5. From the following data calculate Karl Pearson’'s
coefficient of correlation :

Series A SeriesB
112 200
114 190
108 214
124 187
145 170
150 170
119 210
125 190
147 180
150 180
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AT A oot B
112 200
114 190
108 214
124 187
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150 170
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150 180

Section-B
(Tves-)

Short Answer Type Questions
(g I U9H) 4x8=32

Note :— Section ‘B’ contains Eight (08) Short-answer type

guestions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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Distinguish between dispersion and skewness.

STafeRTor qen fosma § $Ta T shifsu |

Explain the importance of graphic presentation of
datistics.

gehi & fogueld a3 &1 Hed qHemsy |

Discussthe utility and limitations of business forecasting.
eI YaaE H1 STt AR dmed &1 fad=m
ST |

Explain the importance of time series andyssin business
forecasting.

eI qaiga § Hia-Sof fagerso & wew &l
BREIERY

Discuss briefly the utility of population statistics in
economic planning.

aferer feiiom § Seea el i SUAIT 1 wiere
FUiF i |

Briefly explain the Karl Pearson’s coefficient of
correlation.

et fIaE & o9y UMk i Wi AT HifaT |
Describe the various methods of measuring dispersion.

aqfentor Araq =i fafve fafet s aui wifs)
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8. Calculate median and quartiles from the following data:

Size Frequency
11-15 7
1620 10
21-25 13
26-30 26
31-35 35
3640 22
4045 11
46-50 5

freAfafea swgl & Tegent IR Tgefa! S TUAT HIfTT
AR AR ST

11-15 7
1620 10
21-25 13
26-30 26
31-35 35
3640 22
4045 11
46-50 5
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